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1. Which one of the following has been major source of foreign exchange
for IT industry?
(a) Bharat Heavy Electricals Limited (BHEL)
(b) Oil India Limited (OIL)
(c) Steel Authority of India Limited (SAIL)
(d) Business Process Outsourcing (BPO)
2. Which one of the following groups of factors is a prime group for the
location of aluminium smelting plant?
(a) Capital and market
(b) Raw material and electricity
(c) Labour and raw material
(d) Capital and transport
3. Which one of the following cities is known as electronic capital of India ?
(a) Srinagar
(b) Noida
(c) Bengaluru
(d) Pune
4. Manufacturing Industries are placed in:
(a) Primary sector
(b) Secondary sector
(c) Tertiary sector
(d) Service sector
5. What is the correct meaning of agglomeration economies?
(a) Many industries set up in rural centres
(b) Industries are basically agro-based.
(c) Many industries tend to come together to make use of the
advantages offered by the urban centres
(d) Industries set up produce raw material for secondary sector.



6. Which of the following industries has been a major foreign exchange
earner in the last few years?
(a) Electronics Industry
(b) Information Technology Industry
(c) Engineering Industry
(d) Tourism Industry
7. Which of the following is a negative effect of industrialisation?
(a) Economic growth
(b) Pollution
(c) Foreign exchange earnings
(d) Rapid urbanisation
8. On the basis of raw materials used, industries are classified as

a) Public sector and private sector

b) Basic industries and consumer industries
c) Agro-based and mineral-based industries
d) None of the abov

9. ___are owned and operated by the producers or suppliers of raw
materials, workers or both.

a) Cooperative sector industries
b) Heavy industries
c) Light industries

d) Public sector companies

10. What was the aim in establishing industries in rural or backward areas?
a. To reduce social gaps

b. To reduce economic gap

C. To bridge the development of two regions

d. All of the above.



